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SECTION - A
All questions are compulsory

QL

I. The expression (ax? + py?
(x*=3x-2)
completely.

= 5x + 2a) is exactly divisible by
Caleulate the value of a and b and factorize the expression

(3]

:.lrd:[,tv, ::].ucﬁ ~y]and 4% 4 B2 = (4 + BY, find the vatue of

X,

(3]

3. A coin is tossed, and a dice is thrown simultancously, [4]
a. Deseribe the sample space §
b. Find the probability of getting

(i) A head and an odd number

() A L‘Iil.

Q1L

I. Solve the incquation and represent the solution sct on a number line for the
following:

a XeW
b.xeER

[3]

-2 <12-2x-3<2

2. Solve the following by using the formula and write the root correct to 3
significant figures. (3]

(;-¢)=-SI—J=IJ

3. Use graph paper to answer the following questions. (Take lem = lunit on

both the axes). H]



a. Mot the points A (2, 1) and B (6, 3).
b. Reflect A in the origin to get the image [D.
¢. Reflect A in the x-axis to get the image C.
d. Wnite the co-ordinates of C and D.
¢. Give a geometrical name for the ligure ABCD and find its arca.

f. Name an invariant point from the figure on reflection in y-axis.

Q 1.
1. A(5,=2). B(6,3),C(8,5) are the vertices of the AADC. Find the cquation of:[3]
a. The median of the triangle through A.

b. The altitude of the triangle through 1.

2. The sum of the ages of Vivek and his younger brother Amit is 47 years. The
product of their ages in years is 550. Find their ages.

[3]
3. Draw Histogram for the lollowing:- (4]
CL - 0-10 10-20 20-30 3040 40-50 50-60
li Frequency | 12 20 2 18 10 6
QIv.
I. Solve for x, for the given AP, if (1 + 4 4+ 7+......4+x) = 247 (3]
2. The model of a building is constructed with the scale factor 1: 30. [3]

a. [ the height of the model is 80cm, find the actual height of the building in
meters.

b. If the actual volume of a tank at the top of the building is 27m’, find the
volume of the tank on the top of the model.
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1T 3 i icle
) ;’m :_r'k:d price of an anticle js 2. 6000. Wholesaler sells it to the deal
;n l;;;c::n; T‘h‘: dealer further sells it 1o a customer at a discount of Tﬂ:
s r ed price. If the rate of GST at each stage is 18%, find the amount
ol Tax paid by the dealer to the government. (4]

SECTION-B

Solve any 4 questions

Qv.
1. Prave the identity: (3]

sinA(1 + tanA) + cosA(l + cotA) = secA + cosecA

2. Mr. Sharma receives an annual income of 2 900 in buying T 50 shares selling
at 2 80. If the dividend declared is 20%, find the: [3]
a. Amount invested by Mr. Sharma.

b. Percentage return on his investment.

3. Draw a Circle of radius 4.5¢m. Draw two tangents to this circle so that the
angle between the tangents is 60°.

(4]

Q VL
1. In the given figure, ABCDE is a pentagon inscribed in a circle such that AC

is a diameter and side BC || AE. If ZBAC = 50°, find giving reasons: 13]

a. ZACD
b. ZEDC
c. ZBEC

Hence prove that BE is also a diameter.
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2. Solve the following inequation, write down the solution set and represent it
on the real number line: 3]

-2 +10x<13x+10< 24+ 10x, x€Z

3. Using ruler and a compass only contruct a semi circle with diameter
BC = Tem. Locate a point A on the circumference of the semicircle such that
A is cquidistant from B and C. Complete the cyclic quadrilateral ABCD,

such that ) is equidistant from AD and BC. Mcasure ZADC and write it

down, [4]
0 VIL
1. A(4.2). B(6,8) and C(B,4) are the vertices of a triangle ABC, Write down
the equation of the median of the triangle through A. ) [3]

2. In the given figure AC is a tangent to the circle with centre O, If
ZADD = 55°, find x and y. Give reasons for YOur answers. [3]

3. Privanka has a recurring deposit account of T. 1000 per month at 10% per
annum. If she gets ¥. 5550 as interest at the time of maturity, find the total
time for which the account was held. [4]



‘Q VL
1. Solve lor x

Vix + 14y - (4]
\f21+1-1".:-3 b

n .
2. Use Graph paper for this question. (6]

A survey regarding height (in cm) of 60 boys belonging to Class 10 of a
school was condueted. The following data was recorded:

Height | 135-140 | 140-145 | 145-150 | 150-155 | 155-160 | 160-165 | 165-170

No.ol boys 4 8 20 14 - 7 6 1

Taking 2em = height of 10e¢m along one axis and 2em = 10 boys along the
other axis draw an ogive of the above distribution. Use the graph to estimate
the following:

a. The median

b. Lower Quartile

c. If above 158 cm is considered as the tall boys of the class.
Find the number ol boys in the class who are tall.

'QIX.
1. Solve the equation 4x? — 5x — 3 = 0 and give your answer correct to two
decimal places. 3]
2. Find the sum of GI’ 3]

1+3+9+27+..........10 |12 terms,

3. Two poles AB and PQ are standing opposite each other on either side of a
road 200m wide. From a point R between them on the road, the angles of
clevation of the top of the PIJIES Al and PQ are 45% and 40° rnpcctiv:]:,r, Ir
height of AB = 80m, find the height of PQ correct o the nearest meter. [4]
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QX.

LIfA = [g ‘21] find matrix B such that 42 — 2B = 34 + 5/ where /is a

2 x 2 identity matrix. (3]

2. Prove that A(Z, 1), B(0, 3) and C(—2, 1) are the three vertices of an
isosceles right —angled triangle. Hence find the coordinates of a point D, if
ABCD is a square. [3]

3. Find the length of a canvas, 2m in width, required to make a conical tent, 12
m in diameter and 12.6m in slant height. Also find the cost of canvas at a

rate of T 12 per meter. (4]

YT



